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RHET 29 36 65 35
S HRET 24 32 56 26
(L HNHET) 0 0 0 0
KHT 73 81 154 72
L FrET 52 54 106 41
T#TET 36 33 69 27
% /5 HT 59 67 126 56
LT 51 70 121 66
B /HT 141 156 297 131
b /HT 53 75 128 67
e /HT 140 192 332 162
B R ET 70 71 141 59
LR HET 146 149 295 124
ERAiTET 68 94 162 78
AE—TH 140 176 316 147
NE=TH 62 70 132 58
RE=TH 70 87 157 67
NEMTH 105 136 241 115
RERTH 98 117 215 105
AMEENTH 78 114 192 87
RNEATHI 49 59 108 59
&/ —HT 44 54 98 43
&/ —#7 91 126 217 104
fE./ _EHT 124 156 280 123
B[ HT 272 256 528 214
75 [ BT 324 338 662 273
l7ld:) 105 109 214 90
A [E BT 146 171 317 129
k4 ELET 74 57 131 57
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X TTEXE B % HFf HEHE

At e T 74 86 160 67
ENE 317 306 623 245
AR EHET 316 302 618 219
AHETE 78 67 145 74
fE./ = HT 68 68 136 57
2DOLME 123 151 274 149
SEhE 318 357 675 274
i) 236 265 501 193
TR DEE 4,254 4,738 8,992 3,893
BE#0
T HNET 23 25 48 25
ZEmT 58 79 137 54
T EET 67 80 147 61
75 T 81 98 179 75
SFHT 67 67 134 65
5 Y B BT 137 143 280 126
FATHET 519 474 993 417
FAHT 64 75 139 67
Fa AN HT 203 229 432 191
FAANET 110 147 257 113
L ARET— X 142 136 278 131
(L&ER) 0 0 0 0
RHHE 236 236 472 194
B 193 211 404 187
AT —X 283 300 583 222
T&ERE 321 316 637 262
mAPE 186 196 382 151
ERE 136 150 286 122
PE 98 105 203 84
[E & R =BT 465 471 936 442
& T HT 449 476 925 396
FRFOERET 412 403 815 300
IER: L) 191 199 390 134
tEE—KX 246 271 517 230
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tEREZRX 337 297 634 267
TERREOER 5024 5184 10,208 4,316
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AR 61 63 124 47
FiE 87 90 177 75
= 71 70 141 58
KA 402 470 872 386
Yz 204 198 402 167
R 242 230 472 224
N T 157 185 342 137
L 239 217 456 246
EO 333 319 652 318
YR 287 287 574 307
(B 4H) 0 0 0 0
BharE 100 105 205 86
NSy R 320 299 619 308
mhsrE 135 129 264 107
thark 164 183 347 158
R AYE 223 238 461 176
il 192 215 407 218
ITBRREDEE 3217 3,298 6,515 3,018
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+ B ET 174 210 384 144
HITH 731 724 1,455 588
Ny B 181 263 444 176
REEFTHT 460 471 931 391
MENE 185 198 383 143
e 245 267 512 200
7a {E = EP AT 577 632 1,209 508

F £ = FPET 204 260 464 208
T ERETETE 631 653 1,284 507
TERETETER 322 337 659 309
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ITBREOER 4,093 4,375 8,468 3,496
izlesl )
T 213 232 445 161
AR 629 694 1,323 545
e 330 358 688 267
94 107 201 76
FH 116 141 257 108
BEFHET 246 255 501 215
ER{EHT 161 189 350 142
Kith 3R BT 371 349 720 268
Hh Yz BT 149 129 278 88
K ILH#T 111 117 228 75
B+ P ET 185 193 378 131
ST HET 767 765 1,532 514
BELNE 316 336 652 188
TRRXDOEE 3,688 3,865 7,553 2,778
k=E
N 120 136 256 100
mEF 248 297 545 202
ENA 33 36 69 28
LEF O 24 41 65 26
TR D& 425 510 935 356
3
vl 341 355 696 299
s 192 229 421 161
T 114 143 257 08
A ] h 83 112 195 104
& 213 214 427 166
M 142 120 262 106
=ZH 43 46 89 38
s 111 114 225 85
ITBREDOER 1,239 1,333 2,572 1,057
TEE
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e 352 374 726 311
T 217 199 416 132
= 255 263 518 207
B 76 91 167 59
A 82 89 171 55
N 98 95 193 76
FERM 197 210 407 149
LI 57 58 115 40
281x 45 60 105 40
SR 207 218 425 152
FH 142 174 316 119
o 346 363 709 276
S 142 122 264 126
IEBRSF 408 417 825 284
s 50 67 117 44
= 45 47 92 37
D0 R 74 63 137 58
MLDOKRE 870 905 1,775 628
B FHET 151 143 294 115
ITBRRE D& 3,814 3,958 7,772 2,908
A
TXiZ 57 62 119 45
—E 14 14 28 10
B 22 23 45 17
FiE 55 78 133 48
e 214 228 442 174
AKX 37 46 83 33
WL 42 50 92 37
ey 13 12 25 8
TR D& 454 513 967 372
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fai5 80 72 152 55
i 137 121 258 96
it 13 24 37 13
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e 41 42 83 33
MK 50 61 111 43
TF 26 29 55 21
=R 20 24 44 20
B 43 44 87 35
&7k 51 56 107 44
HE 63 68 131 50
N4ER 133 146 279 110
BiEIR 124 132 256 106
*/8 183 155 338 96
TBRRE D& 964 974 1,938 722
EARAE
FRIR 136 165 301 124
+% 48 60 108 40
4% 38 42 80 34
YR 21 28 49 21
iR 30 36 66 25
=g 168 202 370 143
thE 75 77 152 56
=1} 57 45 102 38
ITBRREDEE 573 655 1,228 481
HARAE
EH 42 49 91 36
FRE{ZH 34 35 69 29
T 73 90 163 72
it 31 37 68 29
BIEF 61 78 139 45
RKAWLH 50 57 107 39
15 54 64 118 38
O BEF 51 63 114 40
HEFILHE 41 44 85 30
ITBREDOER 437 517 954 358
TARANED
Z&Rm 126 133 259 117
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KHE®R 131 156 287 117
KA 101 99 200 88
£ 262 270 532 197
RHE 649 639 1,288 482
LiOFS 372 365 737 290
E=11] 107 113 220 82
RHEHE—TH 0 0 0 0
RHEEHEZTH 0 0 0 0
REHE=TH 0 0 0 0
PN 54 98 81 179 87
& 153 /T 614 597 1,211 389
TR D& 2,460 2,453 4913 1,849
T
Bt 266 261 527 189
R 136 152 288 111
+= 21 16 37 16
AR 75 72 147 57
+=K 31 36 67 28
PN 31 27 58 22
T/NE 75 90 165 72
/NE 36 38 74 27
G 36 41 77 30
FTXKH 73 68 141 58
X&E 92 88 180 64
ITRRDOEE 872 889 1,761 674
BEA 131 160 291 107
B\a 65 70 135 50
=il 25 22 47 23
A0 48 45 93 34
XREA 21 29 50 24
RS EFET 190 210 400 152
T 65 64 129 44
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TR D& 545 600 1,145 434
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—JBE 125 130 255 95
AE 37 31 68 24
o= 11 14 25 10
HREF 15 25 40 17
TEAR 48 46 94 39
kR K 19 29 48 28
LiEAR 60 66 126 60
E% 27 35 62 34
TR D& 342 376 718 307
£
KE—X 40 50 90 45
KEZRX 47 49 96 44
TEE 32 32 64 26
LB 16 20 36 16
EEE 22 21 43 22
17| 40 45 85 30
KE 50 52 102 43
TR D &E 247 269 516 226
= 166 180 346 134
TRRXDOEE 166 180 346 134
T
T 831 410 1,241 1,231
ITBREDOER 831 410 1,241 1,231
|[BTETD & &t 33,645 35097 68,742 28,610
|H =F0#T
#RT— 126 144 270 105
ZETZ 75 80 155 62
wRA 156 186 342 114
=Y 54 47 101 34
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RiF 86 89 175 64
X5 162 169 331 119
TR D& 659 715 1,374 498
R
FEEVN 30 33 63 25
B/& 12 12 24 12
B 97 101 198 76
it 153 143 296 102
F=R 290 282 572 312
FE 71 80 151 66
Bl 59 60 119 47
= 237 280 517 201
IR 51 52 103 39
H1 0 0 0 0
TR D& 1,000 1,043 2,043 880
na
KR 74 95 169 69
=] 71 74 145 55
& 98 112 210 88
[ 61 74 135 55
TI& 64 76 140 65
hnFA 8 8 16 10
TR D& 376 439 815 342
[BETHETD & &t 2,035 2,197 4,232 1,720
|IBR A EFHT
THRAE
SE 24 24 48 17
Fifi A 18 21 39 16
GiERE] 21 26 47 26
£ 16 19 35 18
CiEEA 26 29 55 20
S 24 26 50 24
/N 10 15 25 13
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SHEH 101 109 210 67
FH 95 114 209 79
THT 95 104 199 75
FHEr 50 66 116 44
B 42 39 81 24
B 51 42 93 28
] 143 168 311 119
tFE 37 49 86 30
PR 20 22 42 17
TFR 61 71 132 53
TBRRE D& 834 944 1,778 670
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HE& 95 96 191 84
X 62 76 138 54
=12 81 100 181 64
KHF 103 104 207 66
g 103 118 221 81
TR D &E 444 494 938 349
LR AE
FqiE 91 103 194 68
Bl& 96 95 191 60
e 54 70 124 44
58 1 4 5 5
PNz 27 33 60 21
A 23 29 52 18
FaiE 35 44 79 24
=18 20 30 50 19
RE 24 24 48 18
F& 16 19 35 17
& H 73 76 149 59
LHr 23 31 54 19
=5 38 30 68 23
PRI= 41 56 97 33
A& 37 35 72 23
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KE 31 60 91 54
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BAE 7 6 13 5
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58 18 21 39 22
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= 56 49 105 31
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Gl 16 26 42 12
=i 61 73 134 41
=ET 64 65 129 52
TEREROEE 280 311 591 209
IBTHETD & &t 2,601 2,888 5,489 2,050
weE 40,416 42,609 83,025 34,075
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